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Answer either in English or in Assamese

1. Answer the following questions (any ten) :
1x10=10

ToY PR S o (R e weht) -
(a) What is ordinal utility?
FIme Segifarer & 2

(b) State the law of equimarginal utility.
e BorcIfArer R Tee 741 |

(c) Define indifference map.

FReers @R Twivas wige fa |
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(2)

What is the marginal rate of substitution
between two perfectly complementary
goods?

T o AR TR oo 2 afessm 29
REER

What is substitution effect?

sifss fsfr 5 2

Mention the ‘Giffen paradox’.
“PeFea T2’ Co1 Seag 10 |

What is meant by production?
T e 5 @ 0

Give one example of implicit cost.

I TS qO1 Trzae foy |

What is meant by a person be risk lover?

Wawwmiﬂgﬁm%m?

Why is the long-
U-shaped?

m%mwu-wmm?

run average cost curve

What is iso-cost line?
ST @3 fF 2

( Continued )

{) How do you calculate the marginal rate of
technical substitution?
A% Afere 4fSTsd 29 O T S
EISEIb: -

(m) Draw an isoquant curve for perfect
complements of factors.
A AR T GO H-SRAT (FT S
4l

(n) Mention one important reason for
decreasing returns to scale.
GRS MR 961 Py FRA TCEY
A1

(o) Define variable factors.
SffRqERIeT SAMI ke |

(p) What are iso-utility curves?
-Sefarfrel (PR 2

(@) Why is average revenue curve of a firm
under perfect competition horizontal?
of SO ITRT D bR T =Y
@1 o i =2

(y Why are selling costs not incurred in
perfect competition?
Ao efecarensie ITRS R I ey w91 729 2
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2. Write short answers of the following questions
(any five) : 2x5=10

@eTq 2CdIRd B e fean (R e #Aiobt) -
(a) What is meant by the slope of an iso-cost
line?

S (@941 GO Bre e 6 e 2

(b) Distinguish between gross demand and
net demand.

32 SR SF Wa BIRAR Trere #1< fHefm 541 |

(¢ Can we apply the law of diminishing
marginal utility to money? Give reason.
TPEE g Towfer [igGr =i @R
CFEO Y IR AN ? I o

(d) State Slutsky’s equation.

1554 SR Sea 9 1

(e) If B=x--Px+ Y- Py, where B represents
: money income of the consumer, P, and
P, represent prices of goods x and y

respectively, find the slope of the
equation.

W B=x P, +y- P, W, TS B 2% SoirereN

A23/178 ( Continued )

(g)

(v

(1)

0)

(S)

Show that average cost 1is the
combination of average fixed cost and
average variable cost.

(IS @ % W XA NS B9 W T o
RIS I F |

What is strong ordering?

A& @ &2

Distinguish between risk-averter and
risk-neutral individuals. :

- HE XEF-ACE e T
A1 g 91 |

State the two conditions for equilibrium
of firm under perfect competition.

A afScfierEe TaTe dfeBrd STNE 59
o1 SEy 41 |

What is a marginal firm?
#fifes AfovT 5 2

3. Answer the following questions (any four :

CEE

(@)

A23/178

5x4=20

AR Tes (R e wifo) -

Briefly explain the principle of
diminishing marginal rate of
substitution. What role does it play in

shaping indifference curves? 3+2=5

{ Turn Over )



(b)

(6)

FRZPEE e dfees =9 Mo v M
0| Feers @41 ot AR cRae 3 5 sfe
AT 09 ? '

What is income-consumption curve?
Derive income-consumption curve for

(7))

(e) Examine the following data on outputs
and inputs. What type of returns to
scale does it represent and why? Give

arguments : 2+3=5

oo fi TeATE W WRER SRR SR
| & @R e e 2 efelite R

normal goods. 1+4=5 o 4 7 e i
qE-Teresl @1 2 Fele AR wmw- 08 RN S
i 1]
TS (FTOE S=ZJ¢ 4 | Capital (F7%) (K) | Labour () (L)| Outpu :
5 8
(c) Explain the revealed preference g 2 2
hypothesis. 5 20 32 12
2T SRR 2B 7T <+ | : oy #0 i 2.
Sy, - ! . i i ? Derive
d) Fill in the blank : () What is expansion path? .
(d) anks in the table below : expansion path with the help of diagram.
1+1+1+2=5 1+4=5
e IR Tl :
RECEE R SR A1 57 Bad SEHS STeErTRe A SRae
Output | Total Total Total A A
Bear | cost (¥) | fixed variable }}ii::?e U:,e-;:,%: kL8
;Ij cost (¥) cost (¥) cost (F) cost (¥)
TER) | PRI | PR | asRe | ow e (g) Derive average fixed cost curve from total
7 (537) 7 (5z1) 7 (5) 77 (5%1) fixed cost curve. S
0 50 = s ,
: = = = = = P &3 W @R Ao & I @ S
2 100 ~ & = — Rk
3 120 i AT T = '
4 135 = L W = fh) Can a firm under perfect competition
5 150 N [ i B — : operate in the short-run when it is
6 160 — WER o = making losses? If so, explain the
7 165 = . o S condition with the help of diagram. 1+4=5
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(8)

I efeceonee o gaere o1 Afeb
RO R 28 AT IR Gz e
AIEAC 2 M IR, o8 “ARERSE fagw wzEe
I 30 |

4. Answer the following questions (any four :

10x4=40

©oq epxedd Sad fran (R picen wifst) -

(@)

(b)

(c)

A23/178

With the help of indifference curve
analysis, derive individual and market
demand curve. 6+4=10
s @2 o szEe afe witn @2 s
IE BIRAT & SAZ9 F47 |

Explain Slutsky substitution effect for a
rise in price and for a fall in price.

9+5=10

T % S T 2P cRae Wi afven R
BIRHECSIN

Whi?.t is meant by inter-temporal
choice? Explain inter-temporal choice of
consumption. 2+8=10

WRSTEITS MR A fa TH?  (EiE
SAIBSTHSTS “=% 27 5 |

( Continued )

(d) State and prove

()

A23/178

(9)

Samuelson’s
fundamental theorem of demand.
Mention any two limitations of the
theorem. 8+2=10

WWWW@W?WW@
1 40 | ©goR R I wo1 Semel Seay
<54 |

What are the assumptions of N-M utility
function? How can N-M utility index be
constructed to explain the choices by an
individual under risky and uncertain
situations? Explain. 2+8=10

N-M Tefaret Feme SfeqRermz F & 2 =fe-
gl W Sfrrel RfEee e o
R N-M Pl o3 @emes 0 FR9
=R 2 0 F0

State the law of diminishing retl:.Lrns.
Why do diminishing returns to a variable
input occur eventually? Can they become
negative? If so, why? 4+3+2+1=10
TEPEE  Tesfne RfEGT SwEd Q01 <O
ARG ToeE FAe TRRPEN ORI
TS R =2 2 YR T8 AN ? AW

I, 392
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( 10 )

G) Distinguish between market pl'i‘?e an

: > n

(g) What are increasing returns to scale? normal price. Explain the deter‘n'tnnz 'co)d
Show them on an isoquant map. Explain of market price in thc? 'very short p 1‘14 B

* the causes of increasing returns.to scale. under perfect competition.
1+5+4=10 GERERRIEERGERINCRIK AR Il
I BT T B2 T-eoir W ofef 2T TTRe WS ZFIETS TE T
RS (TYSAT | ST Beo 1 IRPIR forefiga eiferr < 0 1

RIS

* % %
(h) Define marginal cost. How is it related to

marginal product of a factor? As output
is increased, marginal cost first falls and
then beyond a certain point it rises. How
would you explain it? 1+5+4=107

AEF TR wE fw @B S GllcEs
T TS T PETTA =% g 9
%qu%mﬁm,mmammm
Wﬂﬁﬁﬁ%ﬁ'ﬁﬁwiﬁﬂmlm@w
CFCTTCS 1 (347 2

() What is meant by firm’s equilibrium?
Explain how a firm arrives in equilibrium
in the short-run. 2+8=10

Ao STy RUSHLE LR o
aﬁﬁmmwwm%m,anmw,
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